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Reading Passage (1)

What happens if you don’t get enough sleep? Randy Gardner, a high-school
student in the U.S., wanted to find out. With doctors watching him carefully,
he stayed awake for 264 hours and 12 minutes! What effect did sleeplessness
have on Gardner? After 24 hours without sleep, he\started having trouble

tures were too blurry. By the
ith his hands.

reading and watching T.V. The words and pi
third day, he was having trouble doing thing

By the fourth day, Gardner waswnati g. For example, when he saw a
street sign, he thought it was a person. Qver the next few days, Gardner’s
speech became so slurred that people couldn’t understand him. By the

ounting test. In.the middle of the test he

eleventh day, he couldn’t p -
uidn’t remegher what he was doing.

simply stopped counting.

©
14- Randy stayed awake for ............... -\ ©
Yy $
1) about three d @< 2) more than 11 days
3) 26 hours 4) about 24 days




